AT T xAT—F0H] ERE

H1E iR iE
p10 1117H (1922-96 4) = (1992-96 4)
v dlog(L8) d6log(LB)
19 X(21) A = goloe\LY)
p i 50 0 60 0
I a%log(LB) 9%log L(B)
25 = _x'x/0? = — = _x'x/c?
#:(25) 352 xx/o 352 x'x/o
1947 H Par = 518
p23 1017H (30) X = (35) =
3 = iE
p62  ¥t(15) 5 5
Sh = ) TG - B = Sk = ) TG - %)
i=1 i=1
N N
H(16) SH = TG = DG, ~ ) = Sk = TG~ DG, - )
i=1 i=1
;kit(zn mwith — [S)\g{ith + S)?)Ew]—ls)lg;w =] - mbtw = mwith — [S)\g{ith + S)Ig;w]—ls)lg;w =1- mbtw
p63 18 ??H %E&%LEIEML'&UH%S‘*HBQ LTW5 = %E?EIEvit&visﬁ§$HFa'§J LTWs
p64 7T1TH [i] 7 ) R HEE = v hU—HEE

_ (RSSof - RSSTimeSeries)/(N - 1) _ (RSSof - RSSTimeSeries)/K(N - 1)

p70 @/(it(38) RSSTimeSeries/(N(T - 1)K) 7 - RSSTimeSeries/(N(T - 1) - NK)
2117H (NT — (N + 1)) = (NT — (N + K))
NS _ (RSSpool - RSSof)/(N - 1) _ (RSSpool - RSSof)/(N - 1)
B39 h RSS,r/(N + 1) - h RSS,;/(N + K)

p71 117H (NT-(N+1)—(T-1)) = (NT— (N +K) — (T-1))
_— _ (RSS,r — RSSf) /(T — 1) _ (RSS,r — RSSf) /(T — 1)
B0 " RSS;s/(NT — (N +1) — (T — 1)) - " RSSy;/(NT — (N + K) — (T — 1))

%5 S iE

pl13  M¥E5)  Neyman and Shott(1948) = Neyman and Scott(1948)

pl19  T71TH RLTWD, = IRLTWD, yldI VA EFRKT,

8 iR E

p209 X|7 8.9 Dependent Variable: dx (3 7°FF) =  Dependent Variable: Ax
p211 X% 8.11 Dependent Variable: dx (3 »>FT) =  Dependent Variable: Ax

2B 3R it iE
p271 3641TH  Neyman, J. and E.L. Schott = Neymann, J. and E.L. Scott



